
8751 8751.5 8752 8752.5 8753
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

101.5−

101−

100.5−

100−

99.5−

us
l_

1X

usl_1X:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

3.5

4

4.5

5

5.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

37

37.2

37.4

37.6

37.8

38

38.2

38.4

38.6

38.8

39

39.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

14

14.5

15

15.5

16

us
l_

4e
Y

usl_4eY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

148.4−

148.2−

148−

147.8−

147.6−

147.4−

147.2−

147−

146.8−

146.6−

146.4−

146.2−

us
r_

1X

usr_1X:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

6

6.5

7

7.5

8

us
r_

4a
Y

usr_4aY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

203.5

204

204.5

205

205.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

38.5−

38−

37.5−

37−

36.5−u
sr

_1
2X

usr_12X:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

33232.5

33233

33233.5

33234

33234.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

6735

6735.2

6735.4

6735.6

6735.8

6736

6736.2

6736.4

6736.6

6736.8

6737

6737.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

3919

3919.5

3920

3920.5

3921

us
l_

co
il4

usl_coil4:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

652.5−

652−

651.5−

651−

650.5−us
l_

co
il6

usl_coil6:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

14051.5

14052

14052.5

14053

14053.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

27676.8−

27676.6−

27676.4−

27676.2−

27676−

27675.8−

27675.6−

27675.4−

27675.2−

27675−

27674.8−

27674.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

5502.5−

5502−

5501.5−

5501−

5500.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

3612.5

3613

3613.5

3614

3614.5

us
r_

co
il4

usr_coil4:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

927.5−

927−

926.5−

926−

925.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

17491

17491.5

17492

17492.5

17493

us
r_

co
il7

usr_coil7:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

427.5−

427−

426.5−

426−

425.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

71.4−

71.2−

71−

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

24

24.2

24.4

24.6

24.8

25

25.2

25.4

25.6

25.8

26

26.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

487.5−

487−

486.5−

486−

485.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

94.5−

94−

93.5−

93−

92.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

25.5

26

26.5

27

27.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

168.5

169

169.5

170

170.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

43.5

44

44.5

45

45.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

9.5−

9−

8.5−

8−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

180.2

180.4

180.6

180.8

181

181.2

181.4

181.6

181.8

182

182.2

182.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

23−

22.5−

22−

21.5−

21−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

8−

7.5−

7−

6.5−

6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7338}



8751 8751.5 8752 8752.5 8753
cyclenum

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

237−

236.8−

236.6−

236.4−

236.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

86.5−

86−

85.5−

85−

84.5−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

3.5−

3−

2.5−

2−

1.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

426.5−

426−

425.5−

425−

424.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7338}

8751 8751.5 8752 8752.5 8753
cyclenum

7336

7336.5

7337

7337.5

7338

7338.5

7339

7339.5

7340

ru
n

run:cyclenum {run == 7338}
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